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QUESTION 1

When operating in NPS compatibility mode, which of the following are limitations for using a routine written in
NZPLSQL? (Choose two.) 

A. The routine cannot contain comments. 

B. The routine must return either an integer or a null. 

C. The routine must be cross-compatible with Oracle PL/SQL syntax rules. 

D. The routine cannot contain argument lists or variable arguments (varargs). 

E. The routine must be generated with IBM Database Conversion Workbench (DCW). 

Correct Answer: BD 

 

QUESTION 2

What is an advantage of using range partitioned tables? 

A. Abilityto run utilities against the partitions in parallel 

B. Increased query performance through data partition elimination 

C. Block indexes are much smaller than RID indexes, providing better performance 

D. Table data is automatically and continuously clustered, requiring minimal reorganization 

Correct Answer: B 

 

QUESTION 3

Where does the DB2 Problem Determination tool (db2pd) get information from? 

A. DB2memory sets 

B. the db2diag.log file 

C. Monitoring table functions 

D. A set of pre-defined event monitors 

Correct Answer: A 

 

QUESTION 4

Which of the following statements is TRUE? 
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A. REORGCHK automatically runstables reorganization. 

B. REORGCHK uses only current table and index statistics. 

C. REORGCHK can only be used for user tables, not for system tables. 

D. REORGCHK can be used to verify the level of data fragmentation and indicate whether reorganization might be
required. 

Correct Answer: B 

 

QUESTION 5

Assuming no database connections exist, which of the following will dynamically change the LOCKLIST database
configuration parameter for a database named SAMPLE to AUTOMATIC? 

A. UPDATE DB CFG FOR sample USING LOOCKLIST AUTOMATIC IMMEDIATE 

B. UPDATE DB CFG FOR sample USING LOOCKLIST 8192 AUTOMATIC IMMEDIATE 

C. CONNECT TO sample;UPDATE DB CFG FOR sample USINGLOCKLIST AUTOMATIC IMMEDIATE;CONNECT
RESET; 

D. ATTACH TO db2inst1;UPDATE DB CFG FOR sample USING LOCKLIST AUTOMATIC;DETACH; 

Correct Answer: C 

 

QUESTION 6

When the DB2_WORKLOAD registry variable is assigned the value ANALYTICS and then a new database is created,
what happens? (Choose two.) 

A. The PAGESIZE database configuration parameter is set to 32K. 

B. The AUTO_REORG database configurationparameter is set to NO. 

C. The DFT_EXTENT_SZ database configuration parameter is set to 8. 

D. The DFT_TABLE_ORG database configuration parameter is set to COLUMN. 

E. The INTRA_PARALLEL database manager configuration parameter is set to NO. 

Correct Answer: DE 

 

QUESTION 7

Which statement about label-based access control (LBAC) is TRUE? 

A. LBAC protection can be applied to a nickname 

B. LBAC cannot be used to restrict access to a staging table 
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C. LBAC cannot be used to restrict access to data of columns and rows in the same table 

D. LBAC protection for columns requires a table to contain a column that has a DB2SECURITYLABEL data type 

Correct Answer: D 

 

QUESTION 8

Which of the following are all valid types of trigger? 

A. AFTER, ATOMIC, BEFORE 

B. AFTER, ATOMIC, INSTEAD OF 

C. AFTER, BEFORE, INSTEAD OF 

D. ATOMIC, BEFORE, INSTEAD OF 

Correct Answer: C 

 

QUESTION 9

If the following SQL statements are executed: 

How many rows will be added to the DEPARTMENT table? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: D 

 

QUESTION 10
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Which DB2 Explain Facility tool uses the Explain tables to display access plain information? 

A. db2look 

B. db2advis 

C. db2expln 

D. db2exfmt 

Correct Answer: C 
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